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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O R4 2& 2|E2035 8 OIAZE X))
Ared 70,000,000& 70,000
O UiE &5 8k 10854 OIAZE SM )]
At 50,000,000& 50,000
O 4 Hot s& 30984 OLARE QIML]]
Ard 30,000,000& 30,000
SHEZZ I TMALY 50,000 86,000 236,000
401 Al HIZL 201 50,000 86,000 236,000
01 Al&HI 50,000 86,000 /36,000
O HE ¢t HE12s 8 A =M B A
10,000,000 10,000
O & &= cl22ad HEZMIAL
20,000,000& 20,000
O &ZE 28 =53195d It CMBAL
20,000,000 20,000
= SHEEZZ ZHIDIAY 60,000 60,000 0
401 Al HIZ S 0HbI 60,000 60,000
01 Al&H| 60,000 60,000
O 2k SHEEZZ SHIDIMY
60,000,000 60,000
SHEZZ =28 AMCIFEAY 10,000 10,000 0
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&HI 10,000 10,000
O s0E IDHE =2 M2IREMS(100HS
&) 10,000,000 10,000
Holl iz == 8| 40,000 40,000 0
201 er23| 10,000 10,000
2 5234l 10,000 10,000
O HextEd fX2=+ 10,000,000 10,000
206 MH=H| 10,000 10,000
01 M=4l 10,000 10,000
O St S2HH| M+
10,000,000& 10,000
401 Al HIZL S 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
O Zaith® =2 FHI(ZHIXIE)
20,000,000 20,000
weg JLEHES 40,000 40,000
401 AlEHIY S CHYI 40,000 40,000
01 A28l 40,000 40,000
O 2k sOHEZZ AISY uE g Ny
g Y 40,000,000 40,000
STAES(LE10HA) FIIHNEH A 80,000 80,000
401 AIEHIZ SR 0HYI 80,000 80,000
01 Al&H| 80,000 80,000
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AL AIL
D EZ2AEEe

D SHEER ERRAES EER=E)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
SEAEEE R PSEFEREREE
80,000,000 80,000
HEks S 102,000 306,500 A204,500
SHEEZ TSI E ALY 102,000 306,500 A204,500
401 AlEHIZLE0HY| 102,000 306,500 A204,500
01 Al&HI 100,000 300,000 A200,000
O &H Y48 < 20158 SLEISA
100,000,000& 100,000
03 Al 0HYI 2,000 6,500 24,500
O sUHEZZ SEFZAN AIZ20HI
2,000,000& 2,000
020l ot =8 220,000 20,000 200,000
T 100,000
= 120,000
Hel0IES+Y e 220,000 20,000 200,000
= 100,000
= 120,000
0elol E579 sXlzel 20,000 20,000 0
401 AIEBIZ20HbI 20,000 20,000
01 Al&HI 20,000 20,000
O Nel0IBE 7Y SAE4-AL (R EA,
ledle, EXE 5) 20,000,000 20,000
0elol B3 WEAIE(=/& 8 200,000 0 200,000
T 100,000
= 100,000
401 A& HILS0HY| 200,000 0 200,000
= 100,000
= 100,000
01 AlEHI 200,000 0 200,000
O HEloIBE 7S HAALS
200,000,000& 200,000
& 100,000
= 100,000
SADHE 2,774,760 2,625,211 149,549
TZHEANEZ 2 48,760 56,760 A8,000
THEAEE s 21,960 21,960 0
201 LBr2| 21,960 21,960 0
01 AtR22eltl 1,560 1,560 0
O ulgn 2+ dijotdae] i =2
130,000& 123 1,560
02 33244l 20,400 20,400 0
O =222 ¢ HAM(Z2= )
1,700,000 =123 20,400
=22 HEAE 28 4,800 14,800 A10,000
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2A:

E M

AL Al
=BT,

Cel: ZAAES 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 4,800 14,800 10,000
01 At2teltl 4,800 14,800 10,000
O 2AHEANS EA2Y
100,000 x 12 #4353 4,800
SAAHEEEXMA(PIS) S FAI2e 22,000 20,000 2,000
201 ger=3| 22,000 20,000 2,000
02 S3=4gHl 22,000 20,000 2,000
O TAIAEEZHA(PIS) RXI2tel
22,000,000& 22,000
TZHEAIE A 2,305,000 2,542,000 A237,000
THEAE FAE=AE 105,000 135,000 230,000
206 MH=HI 5,000 5,000 0
01 MHZH| 5,000 5,000 0
O ZHEANE RXE=(RME, 2tHE, &
st=ellole 8) 5,000,000& 5,000
401 AIEHIX R0 100,000 130,000 30,000
01 A28l 100,000 130,000 /30,000
O ZA=E=2 FHI(A=EHI, OtA2RM L
o, sE7&E4 ) 100,000,000 100,000
THEAIE Z0I018Y EX 2 2S00 100,000 100,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&HI 100,000 100,000
O &0 EX & A=S0HY
100,000,000 100,000
HEEZ HEAS 900,000 1,550,000 650,000
401 AlZHIZ S 0HbI 900,000 1,550,000 A650,000
01 A28l 900,000 1,550,000 650,000
&8 Jol2A-usdE 2t ZHEZZ i
M (M1-79) 600,000,000 600,000
O &8 Usag~-axix 2 A2 Of
E A (E3-40) 300,000,000 300,000
IE2BSHE ~ (A)ZEA 2F MLE=Z HE ALY 1,200,000 0 1,200,000
401 AIZHIYL S IHE 1,200,000 1,200,000
01 Al&H| 1,200,000 1,200,000
O =B E~ZFAL 2 HYEZ HEAM
1,200,000,000& 1,200,000
AT AL 411,000 0 411,000
CAMHY=EANS(2/XE) 111,000 0 111,000
101 21AH| 96,000 0 96,000
04 JIZtN22 XS E 96,000 0 96,000
O JIZNZ2RSE 78,084
- HEE 4,302,000« 1&*12& 51,624
- 2CIUI0IE 2,205,000« 1H* 123 26,460
O 4UEE202AFL3) 7,809
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S ALEAID
M SADHY
el SAITHAANS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- HEE 5,163,000&~1H 5,163
- 200 2,646,000 1 2,646
O SAIHMXIFEH JIZHHMZ2 2 262l 0d]
3,600,000& 3,600
O SATHAXIZHE JI2HH E1X S 6,507
- HEE 4,302,000 12 4,302
- ZOUI0IA 2,205,000 12 2,205
201 fet=23y| 10,000 10,000
02 S3=gHl 10,000 10,000
O 3323 € MAl 10,000,000& 10,000
401 AIEHIZ SR 0HYI 5,000 5,000
01 Al&H| 5,000 5,000
O AlE=2 RN+ 5,000,000 5,000
ZES felsSUaRIIAY 300,000 300,000
401 Al&EI L2 HE] 300,000 300,000
01 A&l 300,000 300,000
O ZE8 2SUILIIMY
300,000,000 300,000
AEA 0l 243t 10,000 20,000 10,000
AENEZ JIEAIE EHl At 10,000 20,000 10,000
401 AIEHIZ SR THYI 10,000 20,000 10,000
01 AlZ8| 10,000 20,000 10,000
O XMHENEZ FHI(=HEM, SHYEXIE
HXItH €X ) 10,000,000 10,000
sEI LAY 10,016,416 9,200,323 816,093
=S 3,373,820
s 6,642,5%
sgIgtEd 960,000 1,205,000 A\245,000
S% ARE =8 FHIAM(Z/EE-1EH) 900,000 1,145,000 A\245,000
401 AIEHIZ SR OHYI 900,000 1,145,000 A\245,000
01 Al&HI 895,000 1,140,000 245,000
O ¥Es8 185,000
- ¥d85 g8cd =2 MolsAE 15,000
- ¥85 g == MollsAE
30,000,000 30,000
- 38 320t S+ JUISAM
20,000,000& 20,000
- &8 =tH7 B2 ZdISA
20,000,000 20,000
- &8 2H0t= == ZBISA
30,000,000 30,000
- &5 AlXF =2 ZHISAH
20,000,000& 20,000
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2N AL Al
HH: solAMAA
ER: =Bt A
SA - FH . S(3) - MDA - BAS Ofl bt A
- &= S =2 HUIZ2AH
20,000,000& 20,000
O s 110,000
- 2\ SOt =2 EEZAL
10,000, 000& 10,000
- B REIT BAR HUIBM
20,000,000& 20,000
- ZhAF BEE Hl=2 HHISAH
20,000,000 20,000
- ZAE 28 1372 U2 EH|Z2AF
30,000, 000& 30,000
- ZHAE BE= Hlil=2 THEUIZ2 A
30,000,000& 30,000
O s 105,000
- e E=0IS =2 AXIZ2AH
25,000,000& 25,000
- e dAEe 242 2H L EX2AE
HIZ Ak 25,000,000& 25,000
- HE Dtste] Hie==2 AXIZS At
25,000,000& 25,000
- e &S| Hi=2 AXI2At
30,000,000 30,000
O sSAtAH 105,000
- 24 HE AZX HHS2AIE
20,000,000& 20,000
- 24 AT HAR Y 52 TH=RAY
15,000,000& 15,000
- A0l HiE2 AXIZ2At
15,000, 000& 15,000
- 24 Mg 52 2 242 EXZ2A
15,000,000 15,000
- 2302 =2 EXIZ2At
15,000,000& 15,000
- S 2202 s38 Z&EZ2A
15,000,000 15,000
- B4 HYS B4Z FHIMY
10,000,000 10,000
O ot 60,000
- OteF X|&OIS =2 A XIAIY
20,000,000 20,000
- OoteF NE0IS Hi=2 AXIAIY
20,000,000& 20,000
- ol 2012 Hi2R EXIAIY
20,000,000 20,000
O &sH 70,000
- & BHAIOIS =2 HUIAIY
20,000,000& 20,000
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2N AL Al
B =oiAmeiYs)
Celr sHIIgtxd 2 HA)
SA - ZB . 9(B) - NIRAD - BaS ol b A 2
- &= 222 S22 FHIAg
25,000,000 25,000
- &= 2cl0ts Sti=2 FdIALY
25,000,000& 25,000
O &3 80,000
- I 01Z2l =2 WA=
10,000,000 10,000
- 8 =2l =2 S FALY
10,000,000 10,000
- 38 HdF20IE =2 ZHIAMY
15,000,000 15,000
- &8 2E0S =2 FHIAY
15,000,000 15,000
- TE S20I2 HiAR BHIAY
10,000,000 10,000
- % NAOE =2 EHIAY
10,000,000 10,000
- &g Z40ts g8 A2 EUIANY
10,000,000& 10,000
O S 80,000
- 248 SHRI(ASHAK) L2 THHM
SRA 15,000,000& 15,000
- 24 22l Et== ZHIZ A
25,000,000& 25,000
- 24 Sl Sti=2 ZXI3A
20,000,000 20,000
- 24 Kkl St ZHISA
20,000,000& 20,000
O 3&H 30,000
- 3|8l Fo ZEHil=2 EXIAS
20,000,000 20,000
- 3|8l A0S =2 EAt
10,000,000& 10,000
O =ML FHIAIY OI2EX 240t 100,000
- SHMAD B FHIAIY DI=2EX 24U
100,000, 000& 100,000
03 Al 2 CHYI 5,000 5,000 0
O S8 472 =8 ZUIAIE AIE=20
]l 5,000,000& 5,000
EAL B2 EEE ELAE 60,000 60,000 0
401 Al HILS0HY| 60,000 60,000
01 Al&HI 60,000 60,000
O EA Etli=g EIXE E&AIY
60,000,000& 60,000
AAD|BHEY| 2,295,500 2,224,250 71,250
& 1,450,000
i 845,500
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FA HEEZAID
B =oiAmeiYs)
el e8|l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2lAlE RXl2el 313,000 518,000 205,000
201 er23 | 63,000 48,000 15,000
01 At2teltl 33,000 33,000 0
O «et+=EH| 23,000
- 22 tisEEd dMIerdz2e|(0e) o
= 7,000,000 7,000
- AFE Hi=EEE MD|orM2te| (D) O
Ay 4,000,000 4,000
- WX Hi=BZE 2 401 ®jetA2tel(
M) U= 2 4,000,000& 4,000
- B4 S 2T oot (0Y)
= 4,000,000 4,000
- 35 bt 24T 2 8 MI|tM 2L (MY
) sz 4,000,002 4,000
O 22NEEY SNLS U Yur2gY)
10,000,002 10,000
2 BTS2l 30,000 15,000 15,000
O 2223 ¥ MMI(FIl 2 2923)
30,000,000& 30,000
401 AIEHIZ R HYI 250,000 470,000 220,000
01 Al&H| 250,000 470,000 220,000
O #2lAe gX24 250,000
- WA, SEH, QHEH, HEBE 87
2 200,000,000& 200,000
- 2H, 342 S |NB4
50,000,000 50,000
M=Kl Y2 &= MHAS 70,000 70,000 0
401 AIEHIZ R HYI 70,000 70,000
01 Al 70,000 70,000
O WX, YEH HSHAAML (104 S2)
70,000,000 70,000
28 Kot XA S 100,000 100,000 0
401 AIEHIX SO 100,000 100,000
01 Al&H| 100,000 100,000
O U228 Kot A ES
100,000,000 100,000
4 SHFH A2l S2lAE HESAS (Z/HE) 812,500 1,073,750 A261,250
[ 650,000
Ea 162,500
401 Al HIZL S 0HYI 812,500 1,073,750 A261,250
= 650,000
= 162,500
01 Al&H| 762,500 978,550 216,050
O St SOHFH AlZ2els=clAIEHE At
& 762,500,000 762,500




FA HEEZAID
3 sHFy=Iqt
Rl ST BHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 610,000
s 162,500
02 Zeltl 47,000 90,000 243,000
O el 47,000,000& 47,000
= 37,600
[Ea 9,400
03 AlESTHYI 3,000 5,200 2,200
O 20l 3,000,000& 3,000
< 2,400
[Ea 600
s MM AlZ2el elAlE HEAS (/D E) 515,000 62,500 452,500
= 412,000
o 103,000
401 AIEHIX SO 515,000 62,500 452,500
= 412,000
o 103,000
01 AlZ2H| 452,000 57,000 395,000
O & d=H Al22el =2lAlE IHE==At
o 452,000,000 452,000
== 361,600
[Ea 90,400
02 Zeltl 60,000 5,000 55,000
O Zeld 60,000,000 60,000
= 48,000
o 12,000
03 AIESTHYI 3,000 500 2,500
O 20 3,000,000 3,000
s 2,400
s 600
24 0IZH AlZ2tel el HESAS(E/HE 485,000 50,000 435,000
& 388,000
= 97,000
401 Al HIZL 201 485,000 50,000 435,000
= 388,000
o 97,000
01 Al&H| 422,000 44,460 377,540
O 24k OI=H AlZ2tel f=clAl2 JHEsA
& 422,000,000 422,000
=S 337,600
s 84,400
02 2/l 60,000 5,000 55,000
O Zeld 60,000,000 60,000
& 48,000
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FA HEEZAID
B =oiAmeiYs)
Rl ST BHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 12,000
03 AlESTHYI 3,000 540 2,460
O 20l 3,000,000& 3,000
< 2,400
[Ea 600
BH==OH &4 AL 150,000 1,637,500 A1,487,500
=2 7% 150,000 200,000 250,000
401 Al HIZ 2018 150,000 200,000 250,000
01 Al&H| 150,000 200,000 50,000
2 A=Y
150,000,000 150,000
SEEFIHY 3,885,312 2,122,000 1,763,312
ot HISXI 7 KES2ZMLAIS (2/HE-1SH) 2,579,812 1,772,000 807,812
401 AIEHIZ SR THYI 2,579,812 1,772,000 807,812
01 AlZ8| 2,469,812 1,700,000 769,812
O etk HISX+ XNHES22 LAY
2,469,812,000& 2,469,812
02 Zeltl 105,000 65,000 40,000
O Zeld 105,000,000 105,000
03 AIZ2THYI 5,000 7,000 /2,000
O =2yl 5,000,000& 5,000
2 BRI N ESSZMLANS (2 /& E-1EH) 305,500 100,000 205,500
401 Al HIZ R 0HbI 305,500 100,000 205,500
01 AlZ8| 300,000 100,000 200,000
O 2 SEX T XNHES22 LAY
300,000,000 300,000
02 Zeltl 5,000 0 5,000
O Zeld 5,000,000& 5,000
03 A2 THYI 500 0 500
O =20l 500,000 500
8 H2X 7 NES2ZMLAS (2/HE-1SH) 1,000,000 250,000 750,000
401 Al HIZ R 0HHI 1,000,000 250,000 750,000
01 AlZ28| 890,000 250,000 640,000
O % =X+ XNHES22 LA
890,000,000 890,000
02 Zeltl 100,000 0 100,000
O Zeld 100,000,000 100,000
03 A2 2 0HYI 10,000 0 10,000
O 20l 10,000,000 10,000
sty 2,537,000 1,667,443 869,557
== 1,923,820
o 613,180
JIASHEAZ S I (Z2/HE-1EH) 300,000 400,000 100,000




FA HEEZAID
B =oiAmeiYs)
gelr sXDgEl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HI2L 2O 300,000 400,000 A 100,000
01 A&t 300,000 400,000 100,000
O IS 2R HEH Al
300,000,000 300,000
S EXT URESXNE(ANENE)AML (/T 698,000 930,233 N232,233
=S 600,280
s 97,720
401 AIEHIZ SR OHYI 698,000 930,233 N232,233
< 600,280
[Ea 97,720
01 Al 666,800 866,633 199,833
O &2 8SXT WP ANF2AY
666,800,000 666,800
= 573,448
= 93,352
02 Zcltl 30,000 60,000 /30,000
O el 30,000,000 30,000
=S 25,800
s 4,200
03 Al 20HHI 1,200 3,600 22,400
O 20l 1,200,000 1,200
& 1,032
= 168
CHE DHetRI 2 CHRE BRI E 2l (AERE)AI (S/EE) 840,000 279,070 560,930
= 722,400
o 117,600
401 Al HIZ S OHbI 840,000 279,070 560,930
s 722,400
s 117,600
01 AlZ8| 807,000 217,070 589,930
O U8 JtsXl7 U= X E2 A
807,000,000 807,000
< 694,020
s 112,980
02 Zeltl 30,000 60,000 30,000
O el 30,000,000& 30,000
= 25,800
[Ea 4,200
03 AlE S THYI 3,000 2,000 1,000
O 20l 3,000,000& 3,000
& 2,580
Ea 420
FE 23X 7 ZRNTeIMG (Z/HE) (HEA 640,000 58,140 581,860

)
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FA HEEZAID
B =oiAmeiYs)
Cel: sXDIgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 560,400
s 89,600
401 Al HIZL 01| 640,000 58,140 581,860
= 550,400
= 89,600
01 Al&H| 588,000 57,640 530,360
O B 0BN7 U2 ANFl At
588,000,000 588,000
=S 505,680
s 82,320
02 2/l 50,000 0 50,000
O Zeld 50,000,000 50,000
< 43,000
s 7,000
03 Al 2 0HHI 2,000 500 1,500
O 20l 2,000,000& 2,000
= 1,720
[Ea 280
ORUT| . HPEAXIH (AN (/&8 (R & 59,000 0 59,000
M)
[ 50,740
T 8,260
403 X SHMSAH=01H 59,000 0 59,000
= 50,740
= 8,260
02 SO 2SOt =& 2 EF A I 59,000 0 59,000
O BIRSUESMN HEXA FISAIY]
59,000,000 59,000
= 50,740
o 8,260
I E S 72 188,604 88,600 100,004
X A2 RA2+ 188,604 88,600 100,004
201 =3 38,604 38,600 4
2 S52g4l 38,604 38,600 4
O 3323 % HAl 3,217,000& ~12& 38,604
401 Al HIZL 201 150,000 50,000 100,000
01 Al&HI 150,000 50,000 100,000
O Ald=E |A2=+8 50,000,000& 50,000
O 3X7 20l ~E 2 SXSA
100,000,000 100,000
g8l ZotAEte &4 % 22 6,023,600 3,194,600 2,829,000
= 1,100,000
o 4,923,600
g8l ZotAE2 &Y 403,600 694,600 291,000
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2A:

A AL
B N 2olAEE TA U B2
Col HUA 2BALES X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g8l ZotAER &Y 13,600 504,600 491,000
201 er23 | 10,000 10,000 0
01 At2teltl 10,000 10,000 0
O get=23| 2,000,000& 2,000
O 3l ZotAtlz 8228 7
3,500,000 3,500
O XNSDHZAIY 2t ME2 0, MM At
EE=E S 4,500,000 4,500
202 04l 3,600 3,600
01 2LHoIH 3,600 3,600
O dgdl ZotAattz g2F8 0ol
3,600,000& 3,600
ZotAELZ FHOIS FHIAE 80,000 130,000 /50,000
401 Al HIZ S OHbI 80,000 130,000 50,000
01 Al&H 80,000 130,000 50,000
ol SH0IS oY HEIBA
20,000,000& 20,000
O oref JIA0tE QU BHIS A
20,000,000 20,000
O ot HIsite df =8 SHIAY
20,000,000 20,000
O otef ZotANE FHEHIAY
20,000,000 20,000
ZOtAELR JIBAIE RAIEs 60,000 60,000
401 AlEHIZL S0 60,000 60,000
01 Al&H| 60,000 60,000
O ZotAELZ JIgAlE RXIE=
60,000,000& 60,000
SotAEIE REAE DIESEX 2ot 250,000 250,000
401 AIEHIX R0 250,000 250,000
01 A28l 250,000 250,000
O ZotAER2 ZEMY 0IEEX 24|
250,000,000 250,000
KIS AL 5,620,000 2,500,000 3,120,000
= 1,100,000
= 4,520,000
EQANE MW Zn) HLAI(Z/XIS) 5,600,000 2,500,000 3,100,000
= 1,100,000
o 4,500,000
401 AIEHIX SO 5,600,000 2,500,000 3,100,000
= 1,100,000
o 4,500,000
01 A28l 4,872,300 2,000,000 2,872,300
O EQAE Jgu(0gn) HEAmSE(dE
=) 4,872,300,000& 4,872,300
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2A:

X XH -
o=

AL Al
dEdl ZotAERR &4 ¢ 2l

Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,000,000
s 3,872,300
02 Zeltl 727,700 500,000 227,700
O EQAE Mgng(tgn) HEAd (4
=a) Zell 727,700,000 727,700
[ 100,000
o 627,700
KIS IHE AL 20,000 0 20,000
401 AIEHIZ R 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
O Xejg 8284 20,000,000 20,000
WRes(HET AL 3,640 6,000 22,360
WEHAHRI S (HEZAIDL) 3,640 6,000 2,360
WRAHHXIE(HEAIY) 3,640 6,000 A2,360
@RJIsdEs 3,640 6,000 2,360
(UII=ESE= 3,640 6,000 2,360
O =9&3s 8&= 3,640
- Y 2242 5 AlAE FA2eld
2,640,000 2,640
- S NIHDI=2S4 A B
g 1,000,000& 1,000
HYRIHHI(AEZAID) 236,726 247,816 211,090
= 108,000
= 128,726
Jl=3H| 128,726 139,816 A11,090
JlEddl / AT 48,683 55,380 26,697
201 er2 3| 37,223 43,200 Ab,977
01 At2teltl 31,823 37,800 Nb,977
O det=ZH| 19,523,000& 19,523
Ot2+sz 6,000,000 6,000
O sS4l 6,300,000& 6,300
2 s3234| 5,400 5,400 0
S3k= & MAl 5,400,000 5,400
202 04l 6.480 7,200 AT
01 =LHAHI 6,480 7,200 AT20
L= Oy 6,480,000& 6,480
203 2=l 4,980 4,980
04 PAE2EERFAH 4,980 4,980
O 2AEg g4
415,000 123 4,980
JlEddl / E2AIE 17,275 18,400 AT1,125
201 el 12,415 13,000 585
01 At2teltl 12,415 13,000 A\585




FA HEEAID
M HYRAZH(ALZAIL)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O «et+=ZH| 5,265,000& 5,265
O 24l 5,400,000& 5,400
O E222ldo3| 2@ =g
70,0002 x5 +53] 1,750
202 04| 4,860 5,400 AB40
01 =LHO LI 4,860 5,400 2540
O HR=N 04l 4,860,000 4,860
JlEddl / SAIHA 25,064 25,452 A388
201 Ler23| 16,900 16,380 520
01 At2teltl 16,900 16,380 520
O get+=EH| 11,500,000& 11,500
O SAbl 9,0003 x5 10 * 122 5,400
202 04| 8,164 9,072 A908
01 =LHOLI 8,164 9,072 2908
O g2=d ol 8,164,000& 8,164
JlEZddl / sgolet 16,560 18,000 1,440
201 er23| 10,080 10,800 AT20
01 At2tltl 10,080 10,800 AT20
O dit=ZH| 6,480,000& 6,480
O sS4 3,600,000& 3,600
202 04| 6,480 7,200 AT20
01 2K 6,480 7,200 AT20
O g2F& oy 6,480,000 6.480
JlE&dl / Xeoneg 21,144 22,584 1,440
201 2egh=3| 16,284 17,184 A900
01 At2t2ltl 13,284 14,184 A900
O «it==3ZH| 8,100,000 8,100
O =4l 5,184,000& 5,184
02 S3=gHl 3,000 3,000 0
O 5832 € HA 3,000,000& 3,000
202 04| 4,860 5,400 540
01 =LHOLI 4,860 5,400 2540
O g2=d ol 4,860,000 4,860
el 2| 108,000 108,000 0
= 108,000
el (=2 &) (<Hl) 108,000 108,000 0
== 108,000
101 @124H| 108,000 108,000 0
= 108,000
03 SRA(RIH L) 222+ 108,000 108,000 0
O oe2gd(=24RY)
4,500,000 «2E « 12 108,000
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A AL Al
M HYS2IZH(AE A
s lIEE2ghl EEREE
(=] X ZH Ctel (3 (=] MK OH E‘“.—jE =2}
= 108,000
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